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<include<stdio.h#
<include<conio.h#
(void main




s0clrser

;char b=201
s(printf("Adress is %x ",&b

s(printf("data is %d ",b
getch () ;
}
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# in clued <stdio.h>

# include <conio .h>

{

Int a = 205;

Print f( " Address of a is %x "&a);
Printf ("data is %d",a);

Getch () ;

}
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# C objaasl o ol Jslee
include <stdio.h>
#include <conio.h>
Void main ()
{
Cirscr;
int a=15
Int b= 30
Printf ("a+b =%d",a+b);
Getch();
}
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Include <stdio.h>
Void main( )
{
clrscr () ;
Int I;
Char a[10];
For(i=0;i<10;i++)
Printf("\address of a[ | %d Jis %x".& a[l]);
Geth()
}
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In clued <stdio.h>
Void main( )
{
Cirscr ()
Int I;
char a[10];
For(i=0;i<10;i++)
Print f(""address of a[%d]is%x".i;&ali]);
getch ();
}
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#include <stdio.h>
#include<conio.h>
Voidmain ()
{
Cirscr();
Int I;
Float a[10];
For(i=0;i<10;i++)
Printf("addressofa[%d]is%x,l;&a[ | ] );
Getch ();
}
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Pp6  a[0]

# include <stdio.h>
#incLude<conio.h>
Void main()

{

Clrscr();

Int I;

Float a[20],sum
For(i=0;i<20;i++)
Scanf ("%f",a[i]);
For(i=0; i <20; 1 ++)
Sum=sum+a[ |l ];
A[20]=sum /2
For(i=0
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#
Void main(0
{
Cirscr( );
Int Lj;
Charaa[5][5]
Int a[5][5];
For(i=0;i<5;i++)
For(j=0;j<5;j++)
Printf("\n addressofa[%d][%d] is %X, L,j& aa[i]l[j]);
}
Printf("\n");

}
getch ();
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N*m
Base=2000 1.1 3.1 6.1
L=4 2.1 1001 7.5
A 2*3
8=L
J=3
Address= Base+[ (i-1)*m + (j -1)]*L
A2*3 address=2000 + (12-1) *4+13 -11) +4 =204
2000 1.0
2004 3.1
2008 6.1
2012 8.5
2016 3001
2020 1001
2024 7.5
2028 4.5

# include<stdio.h >
# include<conio.h>
(void main

{
Cirscr ();

sint i,
int a[5][5 ]

(for(i=0;i<5;i++)
(for(j=0;j<5;j++)

printf("Enter distance of %c to %c :",i+65,j+65);
scanf("%d",&a [11[j]);

{
Getch();
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#includ <stdio.h>
include<conio.h>
void main ()

{

sint i,j
floata[2][ 3 ]
selrser () ;
for(i=0;i<2;i++ )
for(j=0;j<3;j ++);
}

printf("\n Adress a[%d][%d] is:%Xx",i,j,&a[1]1[j]);
printf('"\n");
getch () ;

}
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#incLude a3 Ol ik o Lol Ol @

<stdio.h>
#in cLude<conio.h>
Void main ()

{

cLrscr();
Int*p;
Int a= 10;
P=&a; & = address
Printf( mgdar ais %d address of is %X, *p,p);
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#in cLude< stdio.h>

#incLude <conio.h

MaLLOC

p (int*) maLLOC ( SiZe of (mgdar))
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#include<stdio.h>




#include<stdio.h>

Void main ()

{

Int*p

Int Ln

Printf("enter namber of data");
Scanf("%d",&n);
P=(int*)maLLoc(n*2)

For(i=0; i<n;i++)

{

printf("enter %d , s namber, | );
Scanf("%d",p[ 1 ]);

While(p = next .= NalLL

{
Printf("%d,p ->Data);

P=p “>next;
}
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# include <stdio.h>
#include< conio.h>
# include< stdLib.h>




Void main ()

{

Float sum=0;

Float*p, *first:

Intn,l;

Clrscr ();

print f (" \n enter number of Data );
Scan f("%d" &n);

"N Jgb Ll sl
P= ( float*0 malloc (4*n);
First =p;
For(i=0;i<n;i++)
{

Printf("\n enter %d.s Data :",L);
Scanf("%f, p+i);

}

For (i=0;i<n; l++)

{

Printf(" \n%dis of Data is % f "i, *p+1));
Sum =+* (p+i);

}

"end offor
Print f ("\n sum is :%f", sum);

}

malloc U
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( void *) malloc(size);
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#include <stdio.h>
# include <conio.h>
Void main ()
Int sum (int a,intb,int c)

{

Return(a+b+ c);

}

Void main ()

{

Int a[3 ]={ 2,5.7 };

Cirscr ()

Printf("\n sum of Deta is : %d" , sum (a[0 }= a[1 ], a[2],

}
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#include < stdio .h>
# include < conio.h>

{

Int s=o0,l;

For (i=0; i<n; i++)
S=s+p|[l];
Return (s );
Main ()

{

Int a[10] ={1.10,11,12,2,5,10,3,9,16,} ;
sum =(A,10);
& A[0]
Printf("\n sum of Data is:%d",sum(&A[0 ],10));
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#in clued<stdl:h.h>
Stract L L

{

Int Data

Stact L L * next;

b

Stract LL * first

Insrt()

{

First =( stractLL*)maLLoc( 4);
First>Data = 100;

First >Next =(stractLL*)malLLoc (4);
First>next-> Datd = 200;

First-> Next->Next =null;

Pay ()

{
Printf("1,s Data )s:%d" first>Data) ; first

Printf( "2,s Datais: %d" first>Next - Data);
Main ()
{

Insert ();

Pay()
Getch();

}
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#in cLude<stdio.h>
#in clued < stdio .h >
# in clued < std lib .h>

#in clued < string.h >
Struct .LL.

Char nam [10];struct LL * next

}
Void insert (struct LL *L, char nam [10] )

{

Struct LL L1;

While( | i= null)

L1 =l

L =L - next; =(Li*) malloc (12);




Strucpy ( L 2 next > nam, nem);
L > next - next += null;

}
Void pag( struct LL L)

{
While (L,!= nall)

{
L=L - next;

Print f (""\n %s",L - next) ;
}

" while
}" tab
Void main ()

{

struct 1I*p; p = next = null;
Insert( p,"ali");

Insert(p,” asall");

Insert (p,"” ma ryam");

;’ag(p);
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struct s i 3,5

{
Char nam[10];

Char family [10 ];
Char shomaray [10 ];
Ciout modal;
Struct s1L * next };
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Ll o0 Jd @G Jio insert oG
find eU

Find (struct LL,nam)

{

Struct Il;

While( str cmp(I->( s1,s2 ) nam, ham )!= 0 ) &&L - next i= null)
L=L - next;

If str cmp ( L> nam,nam )=0
Printf (" yes ") ;

Else

Printf("no ")

}

Void main ()

{

Struct LL;

Char ch, strf[10],ch="y",
While(ch !="'n")

Scanf (" %S ",str );

Insert ( L, str);

Printf ( do you want to contenew )
Ch =getch () ;

}

Scanf ( "%s", str);

Find (L, str);

Getch ()

}
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#
# defin n10
Int a[n], l,j;
Void main ()

{

Daryaft( )
Sort f ();
Print () ;

}

#

#

# defin n10
Int A[n],1Lj;
Void daryaft ()
{

For(1=0;l<n;l++)
{

Print f ("\n enter A[ %d ]":i) ;
Scanf( "%d", & A [i]);
}

Void sort ()

{

Int temp ;

For (i=0; i< n- 1; i++)
For( j= i+1;j<n;j++;)

If (A[i 1>A[j])

{
Temp=A[l];
Alll=ATjl;
A[j]=temp;
}

}

Void print ()

{

For(1=0;i<n ;1 ++)

Printf (" \n A[%d]is %d",i,A[i]) ;

}
Getch () ;

}
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MAIN ()

{

DRYAFT () ;
SORT () ;
PRINT () ;

}
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Struct vam
{
Char, name[10];
Char family [20 ];
Longint mablag ;
Struct vam *next;

}
first ,* p;

Caéli)) eu

daryaft () S oo 2 S LSS
Charch ="y';
{
First =( struct van*) mallocsiz of(struct van));
P =first;
While( ch=="y")
{
Printf("\n enter namber:");
Scanf("%s,p~>name);




Printf("\n enter f name:");

Scanf ("%s, p>f nhame);

Printf("\n enter mablag );

Scanf ("%Ld",p~> mabLag);

Printf("\n doyou want +enter new data y/n");
Ch=getch ();

If (ch =="y")

{

p~>next=struct van *)maLLOc (size of (struct von ));
p =p 2 next;

"end of while
P - next= nalLL;

}
"end of daryaft

solw i 0 SOt &b

Sort ()
Char temp[20];Longint a;

{

Struct vam *q;

P = first

While ( p~> next= nulLL)

{

q = p~> next

whiLe ( q=> next % = null)

if ( str cmp (p> name, q = name >0))
{

Strcpy (temp, p > neme)
Strc py (p 2 nam, q - nam)
Strc py (q > nam, temp ) ;
Strc py (temp; p > fname)
Strc py (p = fnam ; q - fnam)
Strc py( q = fnam, temp) ;
A =p > mablag ;

P 2> mableg = q - mablag;
Q - ,ablag = a;

}

Q =q 2 next ;1

"end of while q
P=p > next;
}" end of while q

" end of sort

Print ()

{

P = first ;

While ( p != null

Print ("\n name % s %s\t
Fname, p - fname

P - mablag ;

P =p - next;

Getch ()

Silw <5 e print &b




temp = p > next

P - next = q - next

q 2 next = temp

temp = q = next -> next

q = next - next = p = next - next
p > next - next = temp
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serch ()




Int a[ 10 ] = { 1,2.12.20, 50.60 }
Int 1j;

Printf ("\n enter a namber for serch :");
Scan f ("%d",& j);

For (i=0; i<10; I++)

If(a[l1]==j)

{
Print f ("namber is %d is in %d s", LI);

Break;

}
}
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Struct DLL

{
Struct DLL * pre ;

Char Data[20];
Ftruct DLL * next;

}
2
Ol 4 b o Sole Wbl 5 0390 dowsl 1) 515 (S Hism 95 ol 45 2u03 &1 € 0l 45 (51 dali s

J.le c° 9| 21,

Last first null S X 95 S SO 0 o0

P = (DLL *) malloc ( size of (DIl )
P - Data ;
Last=p;




First = p;
P - next =null
P - pre = null

3l oyl > &2 LY) Null
sk = Pre
GXgm 99 Cand = DLL

35l &5 1)l (s Xigm 93 Camad (5 19l 5> OleMbl 755 S (oo sl -

P= ( DLL *) maloc (size of ( DLL );
P = next, first

First > pre=p;

First = =p;

First 2 pre = null;

P = 2 Data = Data

S Ll 5o 700
P = ( DIl * ) maloc ( dize of ( DIl );
Last > next=p;
P - pre = Last ( Last = Last = next ;
Last=p;
P - Data = Data
Last = next = null

S I PLY S
P = (" DLL *) maloc ( size of ( DIl ));
Q - pre 2 next =p
P - pre =q - pre
P 2 next=q
Q > pre =p;
P - Data;

Canead g1l 51 B3
P = first
First = first = next
First 2 pre = null
Free (p);

P = last;

Last = last - pre
Last = next = null;
Free (p);

Q = pre = next = q = next;
Q - next - pre = q - pre;
Free (q);




While (t !=null)

{

Print f (t - Data );
T=t- pre;

}

DIl * t;

T =- first ;

While (t !=null)

{

Print f (t - Data );
T =t - next;

}

Eord 332 03,5 )lg
first name next

Pp40
.\Ab)lﬁ&ﬁﬁgb&m&&))bd&blﬁgé&fUAS.\H'g{gﬂMU){

# in clued < stdio.h >
#include < string.h >
# include < stdlib.h >
Void main ()

{
Struct dL

{

Struct DL * pre;

Char name [ 20 ] ;

Struct dl * next ;

}s

Void ins 2 ()

Struct dl * first , * last;

1- first = ( struct dl * ) malloc (size of ) ; 24----iany
2- first = per = NulLL;

Str cpy ( first > name; "ali "' );

4- first = next = ( struct dl * ) malloc ( size of );
5 — first > next - pre = first

6- str cpy (first 2 next - name," fatmh ");

7- last = first - next;

8- first > next < next = null;

}
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# in clued <stdio.h >

# in clued <string.h>

#include <stdlib.h>

Void ins end (struct dl * first;

Char * name )

{

While (first 2 next !=null )

First = first ,next

1- first = next= ( struct DI * ) malloc (size of )
2- first = next - pre = first;

3 —first - next ;

4- first = next - next = null;

5-str cpy first 2> next - name,name

Pp44
2303903 pialow 1) Ol s X9m 95 Conmad SLSl ol CBL O L &S S 90 (51 4l

Mled ol 3 5 9 s95le
#
#
Void pay end ( struct dl * last )
{
While (last != NULL
Fprinter ( stdout, '"\n namr is %S ,Jast > name );
Fprinter ( stdprn,''\n name is %S,last 2 name );
Last= last 2> per;
}
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#

#

Voidmain ()

{

Struct DL * ins first ( struct )
{

DL * first char * name )
First - per = ( struct DL * ) maL.Loc (24 );
First - pre - next = first;
First = first - per;

First = per = NULL;

Strcpy ( first > name,name );
Return (first );
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#
#
Void (struct DL * firs 1, struct DL * first )
{
Struct DL * p;
P=first 2;
While ( p 2 next != NuLL )
P = p - next;
P - next =first 1 ;
}
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# in clued <stdio.h>

# include <conio.h>

Void main ()

{

Char,ch[20];

Inttop 2> =-1;

Do

{

Fprinter F ( std out, "\n enter a char:");
Top + +;




Ch[top]=getch);

}

While (ch [top]!=13);
While (top !=_1)

{

Top _ _;

Put ch (ch [top ] );

}
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void main ()
{
Char ch;
Ch = getch ();
If(ch!=(13)
Main () ;
Putch (ch);
}
Void main ()
{
F();
}
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Pp52 void main
()

{
Printf (" \n000 End of stack );

Main () ;
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Struct LL
{
Char ch;
Struct LL * next ;
}s
Void main ()
{
Struct LL * front,* rear *pfront = ( struct LL * ) malloc ( 3);
Front = rear= getch () ;
Rear - ch = getch ();
Do
{
Rear - next = ( struct LL ) malloc ( sizeof ( structll ));
Rear = rear - next;
Rear - ch = getch ();

While (rear > ch ! =rear)

While ( front ! =rear )

{

Putch ( front > ch);

P = front;front = front = next;
Free(p);
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Void main ()

{

Char Ch[20];

Int rear,front;

Rear = front=0

,do

[

CH[REAR ] =GETCH ();
REAR ++;

}
WHILE ( CH [REAR—1] ! =13
WHILE (ENTER !=rear )

{
putch (ch [ front]);




front ++
}
}

O pgma ds ol Ol 5l (s L (s33e syl 5l ooliiwl b Cho (g5l 03l &S (pl sy
o ) A Hl 8 Gl slasl S Oledbl Cao 1)1 pab 5 (Fa dgdb ooliiwl (sedl>
29 =2 Abl o b abl JI Gio ST a0h o FEar= front o g0 opl oo ((seil>
Jlie Jie il JLs s ail o i front = rear cil> 55 55 ssil> sl o

pPp35
3355 0 POP 1, 0l 5l Gisls 9 PUSH 1 03ls Hleasls ,5 O3l Hl,3

o100 de By 33,95, Vo v huwgio yohy d9d (o0 Siw 83l (SXgm 95 L (s A5em
Aled w1 ) G99 sla Dleisl GlSe 5 Gloj (S daza Slo iz ssSdl glgil 59

busgio O g0 (l 53 @l 6 @B Ve e bl G ALl sl ol S e S
o, dbil>
0 abidl>

fms G
Sl Jsb 0+ | b ¥ Vo 2 0

Y/oY= ¥ 7 5 abidl>
Spie dbBdl>,

O+ /0Y=8% 7.
X982 93 S
a. /0F =AY 7. ke dbidl>
A 50 Akl
\ -4y 7 =¥ /Of

‘s’lga‘;.\:r.u ,_5| Ao lio dg.\:

0 Abil> Sude alidl>




T

o(Longin) 5595

O(n)

O(n)

Lo axly £95 95 4 W 198 (0 (Slois L Sy ;0 4 39 (o0 GBI 0315 Yleislw (£ 95 4
35 o)Ll 595 £95 5l (Slass

g o8 patuie Ol ddu ) b Ly o

J.le.mab)f,_sl.hé.?gb,cﬁ@b)%l&»%bﬁgéqaﬁ}&)b)é

MSGAO.DLEMIA} Oleis Lw =g 51 O | bl g abid I> 55 S50 (6,196 sl
# in clued < stdio.h>
#include<conio.h>
#include<stdbli.h>
#include<
Struct t
{
Struct*Left;
Char name [ 10];
Struct t * Right;
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# in clued

#include <

Struct t

{

Struct t * left;

Char name [10];

Struct t * Right;

Void main ()

Struct t *root;

Root = ( struct t * ) malloc ( 14 );

Str cpy( root-> name,"ali");

Root ->left = ( struct t* )malloc (14 );
Root - left - right = null;

Root - left - left =null;

Str cpy ( root > left > name,"hasn"
Root-> right = stract * ) malloc ( 14 );
Root - left = null;

Root - right - right = null;

Str cpy ( root - right 2 null,"” hosing;
Pay ( root );
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Struct t

{

Struct t t*Left;
Char name [10];
Struct t*right;




b

Struct tree

Insert (tree*t,char
Payper (t*root)

If (root != null)

{

Printf ( "\n%s",root > name );
Payper ( root - right );
Payper (root > Left);

}

}

Paypost (t*root)

{

If (root ! =nuLL)

{

Paypost ( root - right );
Paypost ( root > Left);
Printf ("\n %s",root 2 name );
Struct t

{

Struct t* left;

Char datd;

Struct t *right

¥

Struct tree;

b

Void in (t*tr,int data)

{

If(tr-> data >data

If (tr-> right==null)

{

Tr - right= (t*) malloc (siz of (t);
Tr - right - right =null;

Tr-> right 2>left = null;

Tr - right - data =data;

}

Else

In(tr - right,data );

Else

If (tr>left== null)

Tr-> left =(t* )malloc (siz of(t));
Tr 2>left >left = null;

Tr-> left = right 2>null;

Tr 2left >data =data;

}

Else




In (tr-> left,data );pay in()tr>left );
Printf("\n%d",tr> data );

Payin (tr-> right )’

}

}
Void payper (t*tr )

{

If(tr! = null

{
Printf("\n%d",tr>data);
Payper(tr > right)

}

}

Void main (void)

{

Cirscr ();

Tree*t;

T = (tree* ) malloc ( size of (tree ));
T - root =null;

Insert (t ,4);

Insert (1,55 );

Insert (t,4);

Payin (1> root);

Getch ();

}
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Void insert (tree*tr,int data )

{
If (tr 2 root == null )

{

Tr-> root = (t* )malLLoc ( size of (t));
Tr - root - Left= nuLL;

Tr - root - right =null;

Tr - root - data =data;

}

Else




In (tr - root,data );

}
Void paypos (t*tr );
{ifr ! =null)

{
Pay pos 9 tr >left);

Paypos ( tr 2 right );
Print f ("\n%d",tr >data );

}}
Void payin (t*tr)

{
Voidpayin (t*tr )

{
If
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Struct Q
{
Char.ch;
Struct E*first;
Struct Q*next;
¥
Struct E
{
Char ch;
Struct E*next;
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